
Niveau 

𝟐𝒙 + 𝟓 = 𝟏𝟕 
 
 

Niveau 

𝟑𝒙 − 𝟕 = 𝟓 
 

Niveau 

−𝟒𝒙 + 𝟑 = −𝟏𝟕 
 
 

Niveau 

−𝟓𝒙 − 𝟐 = 𝟏𝟑 
 

Niveau 

𝟓𝒙 + 𝟑 = 𝟐𝒙 + 𝟏𝟓 
 
 

Niveau 

𝟔𝒙 − 𝟑 = 𝟒𝒙 + 𝟕 
 

Niveau 

𝟑𝒙 + 𝟕 = 𝟓𝒙 − 𝟕 
 
 

Niveau 

𝟐𝒙 − 𝟒 = 𝟓𝒙 + 𝟓 
 

Niveau 

𝟓𝒙 − 𝟖 = 𝟑𝒙 − 𝟏 
 
 

Niveau 

𝟐𝒙 + 𝟐 = −𝟑𝒙 − 𝟓 
 
 

Niveau 

−𝟕𝒙 + 𝟓 = 𝟐𝒙 − 𝟒 
 
 

Niveau 

−𝟗𝒙 − 𝟐 = −𝟒𝒙 − 𝟏𝟓 
 
 

Niveau 

𝟓 + 𝒙 = −𝟕 + 𝟑𝒙 
 
 

Niveau 

−𝟓𝒙 + 𝟖 = 𝟐𝒙 − 𝟗 
 
 

Niveau 

𝟑(𝒙 − 𝟐) = −𝟐(𝟕 + 𝟐𝒙) 
 
 

Niveau 

−𝟑(𝟑𝒙 − 𝟒) = 𝟐(𝒙 − 𝟗) 
 
 

Niveau 
𝟕

𝟐
𝒙 +

𝟏

𝟓
=
𝟑

𝟐
𝒙 +

𝟏𝟏

𝟓
 

 

Niveau 
𝟑

𝟕
𝒙 −

𝟏

𝟑
=

𝟑

𝟏𝟒
𝒙 +

𝟏

𝟒
 

 

Niveau 

𝟒(𝟑𝒙 − 𝟗) = 𝟔(𝟐𝒙 − 𝟔) 
 
 

Niveau 

𝟓(𝟔𝒙 + 𝟕) = 𝟏𝟓(𝟑 + 𝟐𝒙) 
 
 

 

 



Niveau 

𝟑𝒙 − 𝟕 = 𝟓 
Solution : 𝒙 = 𝟒 

 

Niveau 

𝟐𝒙 + 𝟓 = 𝟏𝟕 
Solution : 𝒙 = 𝟔 

 

Niveau 

−𝟓𝒙 − 𝟐 = 𝟏𝟑 
Solution : 𝒙 = −𝟑 

 

Niveau 

−𝟒𝒙 + 𝟑 = −𝟏𝟕 
Solution : 𝒙 = 𝟓 

 

Niveau 

𝟔𝒙 − 𝟑 = 𝟒𝒙 + 𝟕 
Solution : 𝒙 = 𝟓 

 

Niveau 

𝟓𝒙 + 𝟑 = 𝟐𝒙 + 𝟏𝟓 
Solution : 𝒙 = 𝟒 

 

Niveau 

𝟐𝒙 − 𝟒 = 𝟓𝒙 + 𝟓 
Solution : 𝒙 = −𝟑 

 

Niveau 

𝟑𝒙 + 𝟕 = 𝟓𝒙 − 𝟕 
Solution : 𝒙 = 𝟕 

 

Niveau 

𝟐𝒙 + 𝟐 = −𝟑𝒙 − 𝟓 
Solution : 𝒙 = −𝟏, 𝟒 

 

Niveau 

𝟓𝒙 − 𝟖 = 𝟑𝒙 − 𝟏 
Solution : 𝒙 = 𝟑, 𝟓 

 

Niveau 

−𝟗𝒙 − 𝟐 = −𝟒𝒙 − 𝟏𝟓 
Solution : 𝒙 = 𝟐, 𝟔 

 

Niveau 

−𝟕𝒙 + 𝟓 = 𝟐𝒙 − 𝟒 
Solution : 𝒙 = 𝟏 

 

Niveau 

−𝟓𝒙 + 𝟖 = 𝟐𝒙 − 𝟗 
Solution : 𝒙 =

𝟏𝟕

𝟕
 

 

Niveau 

𝟓 + 𝒙 = −𝟕 + 𝟑𝒙 
Solution : 𝒙 = 𝟔 

 

Niveau 

−𝟑(𝟑𝒙 − 𝟒) = 𝟐(𝒙 − 𝟗) 
Solution : 𝒙 =

𝟑𝟎

𝟏𝟏
 

 

Niveau 

𝟑(𝒙 − 𝟐) = −𝟐(𝟕 + 𝟐𝒙) 
Solution : 𝒙 =

−𝟖

𝟕
 

 

Niveau 
𝟑

𝟕
𝒙 −

𝟏

𝟑
=

𝟑

𝟏𝟒
𝒙 +

𝟏

𝟒
 

Solution : 𝒙 =
𝟒𝟗

𝟏𝟖
 

Niveau 
𝟕

𝟐
𝒙 +

𝟏

𝟓
=
𝟑

𝟐
𝒙 +

𝟏𝟏

𝟓
 

Solution : 𝒙 = 𝟏 

Niveau 

𝟓(𝟔𝒙 + 𝟕) = 𝟏𝟓(𝟑 + 𝟐𝒙) 
Solution : aucun nombre 

 

Niveau 

𝟒(𝟑𝒙 − 𝟗) = 𝟔(𝟐𝒙 − 𝟔) 
Solution : tous les nombres 

 

 

 


